

Reduções via autovalores e autovetores

aula 4 - 2 spp

$$x_{n+1} = a_{11} x_n + a_{12} y_n$$

$$y_{n+1} = a_{21} x_n + a_{22} y_n$$

$$\begin{pmatrix} x_{n+1} \\ y_{n+1} \end{pmatrix} = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} x_n \\ y_n \end{pmatrix}$$

$$v_{n+1} = \underbrace{A}_{A} v_n$$

$$x_{n+1} = \beta x_n - \gamma x_{n-1}$$

$$\beta = \text{traco de } A$$

$$\gamma = \det \text{ de } A$$

$$\text{Traco de } A: a_{11} + a_{22}$$

$$\text{Det de } A: a_{11}a_{22} - a_{12}a_{21}$$

$$A = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix}$$

$\det(A) \neq 0$ $\left\{ \begin{array}{l} 2 \text{ vectores especiais} \\ (\text{autovectores}) \end{array} \right.$

autovalores

$$A v_+ = \lambda_+ v_+ \quad A v_- = \lambda_- v_- \quad \mathbb{I}_2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

$$\begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = \lambda \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} \rightarrow \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} - \lambda \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = 0$$

$$\begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} - \lambda \mathbb{I} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = 0 \quad \left\{ \begin{array}{l} \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} - \begin{pmatrix} \lambda & 0 \\ 0 & \lambda \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = 0 \end{array} \right.$$

$$\underbrace{\begin{pmatrix} a_{11}-\lambda & a_{12} \\ a_{21} & a_{22}-\lambda \end{pmatrix}}_M \underbrace{\begin{pmatrix} v_1 \\ v_2 \end{pmatrix}}_v = 0$$

trivial: $\begin{pmatrix} 0 \\ 0 \end{pmatrix}$

Solutions non-trivial: $\det(M) = 0$

$$(a_{11}-\lambda)(a_{22}-\lambda) - a_{12}a_{21} = 0$$

$$a_{11}a_{22} - \lambda a_{11} - \lambda a_{22} + \lambda^2 - a_{12}a_{21} = 0$$

Eq compact: $\lambda^2 - \lambda \underbrace{(a_{11} + a_{22})}_{\text{tr}(A)} + \underbrace{(a_{11}a_{22} - a_{12}a_{21})}_{\det(A)} = 0$

$$\begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = \lambda \begin{pmatrix} v_1 \\ v_2 \end{pmatrix}$$

$$\begin{cases} a_{11}v_1 + a_{12}v_2 = \lambda v_1 \\ a_{21}v_1 + a_{22}v_2 = \lambda v_2 \end{cases} \rightarrow \begin{cases} a_{11}v_1 + a_{12}v_2 - \lambda v_1 = 0 \\ (a_{11} - \lambda)v_1 = -a_{12}v_2 \end{cases}$$

$$v_1 = \frac{-a_{12}v_2}{a_{11} - \lambda}$$

$$a_{21} \left(\frac{-a_{12}v_2}{a_{11} - \lambda} \right) + a_{22}v_2 - \lambda v_2 = 0$$

$$\left(\frac{-a_{21}a_{12} + a_{22}(a_{11} - \lambda) - \lambda(a_{11} - \lambda)}{a_{11} - \lambda} \right) v_2 = 0$$

$$\begin{aligned} & -a_{21}a_{12} + a_{22}a_{11} - a_{22}\lambda \\ & -\lambda a_{11} + \lambda^2 = 0 \end{aligned}$$

$$-a_{12}a_{21} + a_{22}a_{11} - \lambda a_{22} - \lambda a_{11} + \lambda^2 = 0$$

$$\underbrace{\lambda^2} - \lambda \underbrace{(a_{11} + a_{22})}_{\text{tr } A = \beta} + \underbrace{(a_{22}a_{11} - a_{12}a_{21})}_{\det A = \gamma} = 0$$

$$x_{n+1} = \beta x_n - \gamma \quad \leadsto \quad x_{n+1} - \beta x_n + \gamma = 0$$
$$\underbrace{R^2 - \beta R + \gamma = 0}$$

$$\hat{\lambda}_{\pm} = \frac{\beta}{2} \pm \frac{1}{2} \sqrt{\beta^2 - 4\gamma}$$

$$(a_{11} - \lambda) \underbrace{v_1}_{-a_{12}} = -a_{12} \underbrace{v_2}_{(a_{11} - \lambda)}$$

$$(a_{11} - \lambda)(-a_{12}) = (-a_{12})(a_{11} - \lambda)$$

$$\lambda_{\pm} = \frac{\beta}{2} \pm \frac{1}{2} \sqrt{\beta^2 - 4\gamma}$$

$$v_n = \underbrace{C_+}_{\lambda_+^n} v_+ + \underbrace{C_-}_{\lambda_-^n} v_-$$

$$v = \begin{pmatrix} -a_{12} \\ a_{11} - \lambda \end{pmatrix}$$

$$\begin{cases} v_+ = \begin{pmatrix} -a_{12} \\ a_{11} - \lambda_+ \end{pmatrix} \\ v_- = \begin{pmatrix} -a_{12} \\ a_{11} - \lambda_- \end{pmatrix} \end{cases}$$

$$Av = \lambda v$$

$$V_n = C_+ \lambda_+^n v_+ + C_- \lambda_-^n v_-$$

$$A v = \lambda v$$

$$v_{n+1} = A v_n$$

$$A v_n = C_+ \lambda_+^n A v_+ + C_- \lambda_-^n A v_-$$

$$v_{n+1} = C_+ \lambda_+^n \lambda_+' v_+ + C_- \lambda_-^n \lambda_-' v_-$$

$$= \underbrace{C_+ \lambda_+^{n+1}}_{\text{cond. initial}} v_+ + \underbrace{C_- \lambda_-^{n+1}}_{\text{cond. initial}} v_-$$

$$v_0 = \begin{pmatrix} x_0 \\ y_0 \end{pmatrix}$$

$$v_0 = C_+ v_+ + C_- v_- \quad \rightarrow \quad \begin{pmatrix} x_0 \\ y_0 \end{pmatrix} = C_+ \begin{pmatrix} v_{1+} \\ v_{2+} \end{pmatrix} + C_- \begin{pmatrix} v_{1-} \\ v_{2-} \end{pmatrix}$$

Exemplo:

$$\begin{pmatrix} x_{n+1} \\ y_{n+1} \end{pmatrix} = \underbrace{\begin{pmatrix} 1 & 1 \\ -2 & 4 \end{pmatrix}}_A \begin{pmatrix} x_n \\ y_n \end{pmatrix}$$

$$\begin{pmatrix} 1 & 1 \\ -2 & 4 \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = \lambda \begin{pmatrix} v_1 \\ v_2 \end{pmatrix}$$

$$v_1 + v_2 = \lambda v_1 \rightsquigarrow v_2 = \frac{\lambda v_1 - v_1}{(\lambda - 1)v_1}$$

$$-2v_1 + 4v_2 = \lambda v_2$$

$$v_2 = \underline{\underline{(\lambda - 1)v_1}}$$

$$-2v_1 + 4(\lambda - 1)v_1 = \lambda(\lambda - 1)v_1$$

$$-2v_1 + 4\lambda v_1 - 4v_1 = \lambda^2 v_1 - \lambda v_1$$

$$(\lambda^2 - \lambda - 4\lambda + 2 + 4)v_1 = 0$$

$$(\lambda^2 - 5\lambda + 6)v_1 = 0$$

$$\lambda^2 - 5\lambda + 6 = 0$$

$$\lambda = \frac{5}{2} \pm \frac{1}{2} \sqrt{25 - 24}$$

$\lambda_1 = 3$ $\lambda_2 = 2$

$$v_2 = (\lambda - 1)v_1$$

$$\lambda_1 = 3 \quad v_2 = (3 - 1)v_1 = 2v_1$$

$$\begin{pmatrix} v_1 \\ 2v_1 \end{pmatrix} = v_1 \begin{pmatrix} 1 \\ 2 \end{pmatrix}$$

$$\lambda_2 = 2 \quad v_2 = (2 - 1)v_1 = v_1$$

$$\begin{pmatrix} v_1 \\ v_1 \end{pmatrix} = v_1 \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$v_n = C_1 (3)^n \begin{pmatrix} 1 \\ 2 \end{pmatrix} + C_2 (2)^n \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$V_n = C_1 (3)^n \begin{pmatrix} 1 \\ 2 \end{pmatrix} + C_2 (2)^n \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$V_0 = \begin{pmatrix} 10 \\ 5 \end{pmatrix}$$

$$\begin{pmatrix} 10 \\ 5 \end{pmatrix} = C_1 \begin{pmatrix} 1 \\ 2 \end{pmatrix} + C_2 \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

2nd order diff
2 conditions initials
 x_0
 x_1

$$\begin{aligned} 10 &= C_1 + C_2 & \dots \dots \dots \rightarrow 10 &= C_1 + 5 - 2C_1 \Rightarrow 10 = 5 - C_1 \\ 5 &= 2C_1 + C_2 & \dots \dots \dots \rightarrow C_2 &= 5 - 2C_1 \quad \checkmark \dots \dots \dots \end{aligned}$$

$-C_1 = 5$
 $C_1 = -5$

$$C_2 = 5 - 2 \cdot (-5) = 5 + 10 = 15$$

$$V_n = (-5)(3)^n \begin{pmatrix} 1 \\ 2 \end{pmatrix} + 15(2)^n \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

DESAFIO:

$$\begin{pmatrix} x_{n+1} \\ y_{n+1} \end{pmatrix} = \underbrace{\begin{pmatrix} 1 & 2 \\ 4 & 3 \end{pmatrix}}_A \begin{pmatrix} x_n \\ y_n \end{pmatrix}$$

$$v_0 = \begin{pmatrix} 10 \\ 20 \end{pmatrix}$$

Encontrem os autovalores de A resultados qualitativo



